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Q. 1. A balance sheet is best described as:
A A snapshot of the entity’s financial position at a particular
moment of time
B A record of an entity’s financial performance over a period of
time
C Alist of all the income and expenses of the entity at a
particular point in time
D Alist of all the assets and liabilities of the entity over a period
of time
Q. 1. O 100A0YICHOG TTEPIYPAPETAI KAAUTEPA WG:
A 'Eva OTIYJIOTUTTO TNG OIKOVOUIKAG KATAOTAONG UIOG
ETTIXEIPNONG, O€ MIa dEdOMEVN OTIYUA
B  H1apouciaon TNG OIKOVOUIKAG aTTOd00NG UIOG ETTIXEIPNONG
KATa TN OIAPKEIQ PIAG XPOVIKNG TTEPIOOOU
C  H AioTa pe 6Aa Ta £000a Kal £600a PIAg ETTIXEIPNONG O€ Hia
dedopévn OTIYUA
D HAiota pye 6Aa Ta evepynTIKA Kal TTAONTIKA YIOG ETTIXEIPNONG
KATa TN OIAPKEIQ PIAG XPOVIKNG TTEPIOOOU
Q. 2. Capital is the amount:
A  The owners owe to the entity
B  The customers owe to the entity
C  The owner originally invested in the firm
D  The entity owes to its owner
Q. 2. To ke@dAaio gival TO TTOGO TTOU:
A O110I0KTATEG OPEIAOUV OTNV ETTIXEIPNON
B  O1 TeAdTEG OQEINOUV OTNV ETTIXEIPNON
C  0O1010KTATNG €TTEVOUCE QPXIKA OTNV ETTIXEIPNON
D Hemyxeipnon ogeilel oTOV IBIOKTATN TNG
Q.3 When an entity returns goods to a supplier expects to receive

from the supplier:
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An invoice

A credit note

A purchase order

A goods received note



Q.3 Otav pdIa  €mIXeEipnon EmMOTPEPEI  EUTTOPEUMATO OE  €va
TTPOMNOLUTH, TTEPIMEVEI VA TTAPEI ATTO AUTOV:

A TigoAdyio
B  oTtwTtiKA onueiwon
C TMapayyelia ayopdg
D Znueiwpa TapaAaBig euTTopeUpdTWY

Q. 4 The amount of cash discount allowed on a transaction will
initially be recorded in the:

A Cash book (payment side)
B Sales day book

C Sales invoice only

D Cash book (receipts side)

Q. 4 To o006 TNG TAMEIOKAG XOPNYOUHEVNG EKTITWONG MIOG
ouvaAAayng 0a eyypa@ei apXikd oTo:
A Taueio (TTAnpwuEQ)

B Huepnoio BiBAio TTwAACEWY
C 2.TO TIMOAOYIO TTWARCEWG JOVO
D  Tapeio (e10TTPALEIQ)

Q.5 Petty cash book is controlled under an imprest system. The
imprest amount is €100. During a period, payments totalling
€53 have been made. How much should be reimbursed at the
end of the period to restore petty cash to the imprest amount?
A €100
B €53
C €47
D €153

Q.5 To MIKPO TapEio €AéyXeETAI XPNOIMOTTOIWVTOG TO OTOOEPOS

ovotnua. To otaBepd Tood cival € 100. Karda tn didpkeia Tng
wEPIOdoU €yivav ouvoAikég TTANpwHéEG € 53. Molo Tood péTel
va xpnuarodotndei oto TéAOg TG TTEPIOdOU yia va eTavéABel
TO MIKPO TOEIO OTO OTABEPS TOU TTOOO;

A €100
B €53
C € 47
D €153




Q.6 A transaction which does not involve payroll, cash or credit
transactions is likely to be recorded in:
A The cash book
B The petty cash book
C The sales day book
D The journal
Q.6 Mia ouvaAAayq n omoia &ev TreplAappdavel  ocuvaAlayég
MiIcBoAoyiou, ocuvaAAayég TOIG METPNTOIG I ME TTrioOTWON, TO
mlavoTEPO Eival va KaTaypa@EeTal:
A Tapeio
B Mikpo Tapeio
C Huepnoio BiBAio TTwARoewv
D HuepoAdyio
Q. 7 The nominal ledger:
A Is the book of original entry for all transactions not recorded
in other books of original entry
B Summarises all transactions relating to debtors
C Summarises all transactions relating to creditors
D Summarises all the financial transactions of the entity
Q. 7 To ovouaoTIKO KABOAIKO:
A Eival To BIpAio apxIkng eyypa@nc OAwV eKEiVWV Twv cuvaAAaywv
TTOU Oev KaTaypdgovTal o€ GAAa BIBAIa apxIKNAG EYYPAPAS
B 2 uvoyicel OAEG TIG CUVAANQYEG TTOU OXETICOVTAI E TOUG XPEWOTEG
C 2uvouyicel OAeG TIG CUVAAAQYEG TTOU OXETICOVTAI PUE TOUG TTIOTWTEG
D 2 uvowyicel OAEG TIG XPNHUATOOIKOVOMIKEG OUVOAAAYEG TNG
ETTIXEIPNONG
Q. 8 A debit entry in an account will:
A Decrease an asset
B Decrease an expense
C Increase a liability
D Decrease capital
Q. 8 Mia XpewoTIKA eyypa@n o€ éva Aoyapiacuo 0a:
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Meiwaoel €va oToixeio evepynTikou
Meiwozel éva £€000

Aunoel éva oToixeio TTadnTIkou
Meiwoel To KeQAAalo




Q. 9 Individual customer accounts are kept in which ledger?
A Creditors ledger
B Trade debtors
C Sales ledger
D General ledger
Q.9 2 & o010 KOOOAIKS KpaTOoUVTaAl §EXWPIOTA OI AOYOPIACHOI TWV
meEAATWY;
A KaBoAIké TTIoTwTwyv
B Eutropikoi xpewoTeg
C KaBoAikd TTwARoewv
D "evikO KaBoAIKO
Q. 10 Mary has a net loss for the year of €400. This should be:
A Credited to the profit and loss account and debited to the
capital account
B Credited to the profit and loss account and debited to the
drawings account
C Debited to the profit and loss account and debited to the
drawings account
D Debited to the profit and loss account and credited to the
capital account
Q. 10  H Maipn éxe1 kaBapn ¢nuid yia To £10G €400. AuTé Ba TTpéTTEl
va:
A MoTwOei 0TO AoyapIaoPO ATTOTEAECHATWY XPROEWS Kal va
XPEWOEI oTOV Aoyapiacuo KEQAAaIo
B MoTwOei 0TO AoyapIaoPO ATTOTEAECUATWY XPAOEWS Kal va
XPEWOEI 0TOV AOYapIaCUO TTPOCWTTIKEG ATTOANYWEIG
C XpewBei 010 Aoyaplaouo aTToTEAEOUATWYV XPrOEWG Kal va
XPEWOEI oTOV AOyapIaouO TTPOCWTTIKES ATTOANYWEIG
D XpewBei 010 Aoyapiaoud atTOTEAECUATWY XPHOEWGS KAl VO
MOoTWOEI oTOV Aoyaplacud KePAAaio
Q. 11  Gresham & Sons has drawn up a trial balance which shows

credits greater than debits by €250. Which of the following is
a possible explanation for the difference?

A Rent paid of €250 had been credited to the rent account.

B The debit side of the trial balance had been undercast by €250.

C Cash drawings of €125 had been debited to the cash and
drawings accounts.

D €250 paid for motor repairs had been debited to the motor
vehicles (non — current assets) account..



Q. 11 H Gresham & Sons éxel eToiydoel To SOKINAOTIKO 100(UYIO TO
OTT0i0 TTAPOUCIAEl TICTWOEIG MEYOAUTEPEG ATTO TIG XPEWOEIG
Kara €250. MNMoio amd Ta akdéAouba eival mlavh €§Rynon yia
auTA TN S1a@opd;

A MANpwn evoikiou €250 £xel MoTwOei oTo Aoyaplacud
EVOIKiWV
B H xpewoTikr TTAeUpd TOU BOKIPAOTIKOU 1I00{UYioU £XEI
UTTOTINNOEI KaTA €250
C MPOoWTTIKEG ATTOANWEIG OE PETPNTA UWoug €125 éxouv
XPEWOEI 0TOUG AoyapIAoUOUG TAWEIO KAl TIPOCWTTIKEG
ATTOARWYEIG
D Moo €250 éxel TTANpwOEi yia €mdIOPOBwWON AUTOKIVATOU Kal
EXEl XpEWBEI 0TO Aoyaplaouo auTtokivnTa
Q. 12 Rena has the following balances in her accounts:
Purchases € 75.000
Carriage outwards € 800
Carriage inwards € 1.000
Discount received € 2.000
Opening stock € 10.000
Sales €120.000
Closing stock € 12.000
What is Rena’s cost of sales?
A €72.000
B €73.000
C €74.000
D €74.800
Q. 12 H Péva éxel Ta TI0 KATW UTTOAOITTA OTOUG AOYapIaouoUg ThG:
Ayopég € 75.000
MeTa@opég TTWARCEWYV € 800
MeTa@opég ayopwv € 1.000
EKTITWOEIG EICTTPOKTEEG € 2.000
ApXIKO a1réBea EPTTOPEUNATWV € 10.000
NMwARoeig €120.000
TeAIkS a1réBepa EPTTOPEVHATWYV € 12.000

Moo €ival To K60TOG TWV TTWARCEWYV TNG Pévag;

A €72.000
B €73.000
C €74.000
D €74.800




Q.13

On 5 May 2007 Peter paid a rent of €1.800 for the eighteen months
ended 30 June 2008. What is the charge in the profit and loss
account and the balance sheet entry for rent in respect of the year
ended 31 March 20087

A €1.200 with prepayment of €300
B €1.200 with accrual of €600
C €1.500 with accrual of €300
D €1.500 with prepayment of €300

Q.13 2116 5 Mdiou 2007, o MNétpog TrARpwoe gvoikio €1.800 yia Toug
18 pRipveg mrou TeAsiwvouv oTig 30 louviou 2008. Mola gival n
EYYPUPH OTO AOYUPIONCHO ATTOTEAECHATWY KAl N EYYPAPHR OTOV
ICOAOYIOMO, YIO EVOIKIO TTOU OVTIOTOIXEI OTn XpPovid Trou
TeAgiwoe Tnv 31" Maptiou 2008;
A €1.200 pe TpotTAnpwpr €300
B €1.200 pe opelNdueva €600
C €1.500 pe opelNdpeva €300
D €1.500 pe TrpoTTAnpwn €300

Q. 14 At the beginning of September Andrew had rent receivable of
€200. At the end of September rent receivable was €400. €800
for rent was received during September.
What entry will be made in the profit and loss account for rent
income?
A Debit €600
B Debit €1.000
C Credit €600
D Credit €1.000

Q. 14 Zmig apxég ZemTepppiou o Avdpéag €ixe EVOIKIO EICTTPAKTEN

€200. X10 TéAOGg ZemTepPpiou eixe evoikia giompakTéa €400.
Katd tn didpkeia Tou ZemtéUPpn eiorpade €800.

Mola eyypa@nn OBa kataxwpnlei oTtov  Aoyaplacuod
ATTOTEAEOUATWYV XPAOEWSG OXETIKA ME EI00OAUATA ATTO EVOIKIA;

A Xpéwon €600
B Xpéwaon €1.000
C MioTwon €600
D Miotwon €1.000




Q. 15 During the year ended 31 December 2008 Kely decreased its
provision for bad and doubtful debts by €600. A bad debt
written off in the year amounting to €300 was recovered in
2008. If the net profit of the year after accounting for the above
items is €5.000 what was it before accounting for them?

A €4.100
B €4.700
C €5.300
D €5.900

Q.15 Katd tn Sidpkeia Tou £éToug Trou TeAsiwvel Tnv 31" Aekeuppiou
2008, n Kely peiwoe tnv TTPOBAewn yia TOUG ETTIOQPAAEig
XPewoTeg Katd €600. Mia Sdiaypa@ni XpewoTn TTou diaypda@nKe
Katda Tn S1dpKela TnG Xpovidg pe mmood €300, avakTROnke TO
2008. Edav 1o KaBapO KEPOOG TOU £TOUG HETA TOV XEIPICHO TWV
Mo TTAvw oTolxeiwv gival €5.000 TTolo ATAV TO KABAPO KEPOOG
TIPIV TOV XEIPIOUO aUTO;

A €4.100
B €4.700
C €5.300
D €5.900

Q.16 Michael had the following balances in its trial balance at 30

June 2007.
€

Trade debtors 70.000
Bad debts written off 500
Provision for bad and doubtful debts at 1 July 2006 6.000
Michael wishes to carry forward at 30 June 2007 a provision for
bad and doubtful debts equal to 10% of trade debtors. What is
the amount charged in the profit and loss account for the year
ended 30 June 20077
A Debit of €2.450
B Credit of €2.450
C Debit of €1.500
D Credit of €2.500

Q.16 O MixdAng €ixe Ta IO KATW UTTOAOITTA OTO SOKIJAOTIKO

100dUuyio Tou oTig 30 louviou 2007.

EMTTOpPIKOi XPEWOTEG 70.000
Alaypa@ég XpEWOTWV 500



MpoBAeywn yia KOKOUG Kal ETTICQPAAEIG XPEWOTEG
TNV 1" louAiou 2006 6.000

O MixdAng emiBupei va petagépel otig 30 louviou 2007, pia
TPOBAEYn via emo@aAeig xpewoTteg ion pe 10 10% TWV
XPEWOTWV. Mola ¢givali n xpéwon oTo Aoyaplacuo
ATToTEAEOUATWY YIa TO £T0G TTOU TeAgiwoe oTig 30 louviou 2007;

A Xpéwon €2.450
B MioTwon €2.450
C Xpéwon €1.500
D MioTwon €2.500
Q. 17 Materials purchased and used by P&C for repairs to office
buildings have been included in the draft final accounts as
purchases.
The necessary amendment will:
A Increase gross profit with no effect on net profit
B Increase gross profit and reduce net profit
C Have no effect on either gross or net profit
D Reduce gross profit and increase net profit
Q. 17  Ayopég TpWTWV UAWV TTOU Xpnoigotroinbnkav amwd tnv P&C
yia  emlIopOWOoEIS TWV  YPAPEIOKWV  KTIpiWV  gixav
oUPTTEPIANQOBEI OTOUG TTPOXEIPOUG TEAIKOUG AoyapliaouoUg cav
AYOPEG EMTTOPEUNATWV.
H atmrapaitntn 816p0won Ba eivai:
A AUENoN TOu PIKTOU KEPDOUG XWPIG £TTIOpacn oTo Kabapod
KEPOOG
B AUENoN TOu PIKTOU KEPDOUG Kal hEiwon Tou Kabapou
KEPOOUG
C Aev €xel eTTidpacn, oUTe OTO MIKTO OUTE OTO KaBapd
KEPDOOG
D Meiwon pikTou KEPOOUG Kal augnon KabBapou KEPOOUG
Q. 18 Why is depreciation provided for non-current assets?
A To ensure that sufficient funds are available to replace
the assets
B To show the assets at replacement cost on the balance
sheet
C To spread the cost of the assets over their useful lives
D To show the fall in market value of the assets in the profit

and loss account



Q. 18 Mari yivetal rpoBAeYn yia aréoBeon yia un KUKAOQopouv
EVEPYNTIKOU;
A MNa va BeBaiwBoupue 0TI UTTAPXE! IKAVOTTOINTIKO dIaBETIUO
amméBepa yia avTIKaTaoTaon TOU EVEPYNTIKOU
B Na va TTapoucIAC0UUE TO EVEPYNTIKO OTOV ICOAOYIOUO O€
TIMA AVTIKATAOTAONG
C MNa va kataveunBei To KOOTOG TOU EvEPYNTIKOU 0€ OAa TA
XPNAOIMa Xpovia TG (wng Tou
D MNa va deiCoupe TN TITWON TNV ayopaia TIKr Tou
EVEPYNTIKOU OTN KATACTAON AOYaPIaOUOU ATTOTEAECUATWY
Q. 19 A business with financial year end 30™ of June buys a non-
current (fixed) asset on the 1rst of July 2003 for €200.000.
Depreciation is charged at 15% per annum on the reducing
balance basis. On 30™ of June 2005 the asset was sold for
€54.800.
What was the loss on sale of the asset?
A € 89.700
B € 85.200
C €145.200
D € 55.200
Q. 19 Mia emixeipnon pe olkovouiko £T1og TTou Afyel oTig 30 louviou
ayopaoce £va pn-KUKAo@opoUv (Trdylo) evepynTiko Tnv 1"
louAiou 2003 yia €200.000. H amréoBeon utroAoyifete og 15%
TOV XPOVvo e TN @Bivouca péBodo. Ztig 30 louviou 2005 1O
oTolIXEio EvepYNTIKOU TTWARONKE yia €54.800.
Moéon ATav n {nuia atré Tn TTWANOCN TOU EVEPYNTIKOU;
A € 89.700
B € 85.200
C €145.200
D € 55.200
Q. 20 Lambros maintains its petty cash records using imprest

system. The total petty cash float is topped up monthly to
€300. During the month of August the following expenses were
paid from petty cash:

Stationery € 36
Tea and coffee € 60
Stamps €120



Q.

20

10

In error, the purchase of stamps was recorded as €12 and as a
result a cheque for €108 was written to top up the petty cash
float.

The error made will result in which of the following?

A An imbalance in the trial balance of €108 and the petty
cash balance being €108 less than it should be

B An understatement of expenses of €108 and the petty
cash balance €192 less than in should be.

C An understatement of expenses of €108 and the petty
cash balance being €108 less than it should be

D An imbalance in the trial balance of €192 and the petty

cash balance €192 less than it should be

O Adumrpog dlatnpei MIKPO TAMEIO XPNOIMOTTOIWVTOG TO
oT1a0ep6 ovoTnua. To ouvoAikd oTaBepd MO0 avabewpeital
pnviaiwg oe €300. Kard tn O1dpkela Tou AuyouoTou Td
akO6AouBa £§oda £xouv TTANPWOEI a1rd TO MIKPO TAEIO:

Fpa@ikn UANn € 36
Todi ka1 Kagég € 60
Fpapparéonua €120

Kard AdBog, n ayopd ypOMMOATOOH MWV KATAYPAPTNKE wg €12
ME atroTéAeopa va gkdoBei emitayn €108 yia xpnuarodoTnon
TOU MIKPOU TAMEIOU.

Moio gival To aroTéAeoua Tou AdBoug TTou £YIVE;

A To 100QUy10 va pn 1ocoduyioel pe diagopd €108 kai 1o
UTTOAOITTO TOU PIKPOU TAMEIOU va €ival JIKPOTEPO KATA
€108

B YTrotignon Twv €£6dwv Katd €108 kal To UTTOAOITTO TOU
MIKpOU TapEgiou pIKpOTEPO KaTA €192

C YTroTignon Twv €§6dwv kKatd €108 kal To UTTOAOITTO TOU
MIKpOU Tapegiou pIKkpoTEPO KaTd €108

D To 100QUyI0 va Pnv 1Icoduyioel katd €192 kal To uTTOAOITTO
TOU MIKPOU TaAWEIOU va gival JIKPOTEPO KaTa €192

Q.

21

Evan, a sole trader, has taken goods valued at €1.800 for his
own use. This has not been recorded in arriving at his draft

reported profit figure. To record this he must:
A Debit capital, Credit stock

B Debit drawings, Credit purchases

C Debit capital, Credit purchases

D Debit drawings, Credit sales
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Q. 21 O Evan, évag emiXeIpnuaTiag, €iXe TTAPEI EPTTOPEUMATA Agiag
€1.800 yia TrpoowTTIKN TOU XpAon. AuTtd dev gixel Karaypa@ei
KOTA TOV TTPOXEIPO UTTOAOYIOHO Tou KEPSOG. Na va TV
Karaxwpnon TnG cuvaAAayng mTpETEl va:
A Xpewaoel kKe@ahalo, NMoTwoEel EUTTOPEUPATA
B Xpewaoel TTPOOWTTIKEG ATTOAAWEIG, MIOTWOEI ayopES
C Xpewoel ke@ahaio, MNioTwoel ayopEg
D Xpewaoel TTPOOWTTIKEG ATTOAAWEIG, MIoTWoEl TTWAROEIG
Q. 22 Which of the following should be treated as capital expenditure
in the accounts of a sole trader?
A €500 taken by the proprietor to buy himself a hi-fi system
B €400 spent on purchasing a new computer to replace his
secretary’s old one
C €2.000 on purchasing a machine for resale
D €150 paid to a painter for redecorating his office
Q.22 Molo atrd Ta akdAouba Bewpeital Ke@aAalouxIKK dATTAVN OTOUG
Aoyaplaopoug evog eTTIXEIpnpaTIaj
A €500 1Tou £xel TTApEl O IBIOKTATNG YyIa TTPOCWTTIKY ayopd
evog ouoTAuaTog hi-fi
B €400 10U €0OEUTNKAV YIa AYOpPd €VOG VEOU NAEKTPOVIKOU
UTTOAOYIOTH] yIa AVTIKATAOTAON TOU TTAAIOU TNG YPOUMOTEWG
TOU
C €2.000 yia ayopd pIag JnxavAg yia JETOTTWANON
D €150 1TOU TTANPWONKavV oe éva PTToyiatdn yia avakaivion
TOU ypa@eiou Tou
Q. 23  The accounting equation can be written as:
A Assets + profits — drawings — liabilities = closing capital
B Assets — liabilities — drawings = opening capital + profit
C Assets — liabilities — opening capital + drawings = profit
D Opening capital + profit — drawings — liabilities = assets
Q. 23 H AoyioTiKA g§iocwon ptropei ypa@Tei wg €§AG:

A EvepynTikG + KEPOOG — TTPOCWTTIKEG ATTOAAWEIG — TTABNTIKO
= TENIKO KEQAAQIO

B EvepynTiKG — TTaBNTIKO — TTPOCWTTIKEG ATTOANWEIG = APXIKO
KEQAAaIO + KEPDOG

C EvepynTiké — maBNTIKO — apXIKO KEPAAQIO + TTPOCWTTIKEG
atmoAnYeIg = KEPOOG

D Apxikd Ke@AAalo + KEPDOG — TTPOCWTTIKEG OTTOAAWEIS —

TadnTIKG = EvepynTikd
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Q. 24 A business can make a profit and yet have a decreased bank
balance. Which of the following might cause this to happen?

The sale of non-current assets at a loss

The charging of depreciation in the profit and loss account
The lengthening of the period of credit given to customers
The lengthening of the period of credit taken from suppliers

OO wm>

Q.24 Mia emixeipnon ptropei va €xel KEPOOG, EVW va £XEl HEiWOT OTO
utréAoitro Tng Tpdamredag. Molo amrd Ta akéAouba pTropei va €xel

ouppEi;

A TlwAnon evog un KUKAOQOPIOKOU evepynTIKOU YE CnUIA

B Hxpéwon TN atmdoBeong oTo AOYapIOoUO ATTOTEAEOUATWYV

C  Had&¢non tng TMOTWTIKAG TTEPIOOOU TTOU dOBNKE OTOUG TTEAATEG
D H augnon Tng MOTWTIKAG TTEPIOOOU TTOU TIPAMNE OTTO TOUG

TTPOUNOEUTEG

Q.25 In double entry bookkeeping, which of the following
statements is true?

A Credit entries decrease liabilities and increase income
B Debit entries decrease income and increase assets

C Credit entries decrease expenses and increase assets
D Debit entries decrease expenses and increase assets

Q.25 210 SITTAOYPAQPIKO AOYIOTIKO oUOTNHA TTOI6 a1rd Ta aKOAouba
gival cwoTo;

A MOTWTIKEG EYYPAPES PEIWVOUV TO TTAONTIKO KAl augdvouv
Ta €000a

B XPEWOTIKEG EYYPAPES PEIWVOUV Ta £000a Kal auédvouv To
EVEPYNTIKO

C MOTWTIKEG EYYPOAPES PEILVOUV Ta £E00Q KAl AQUEAVOUV TO
EVEPYNTIKO

D XPEWOTIKEG EYYPOAPES PEIWVOUV Ta ££00a Kal augdvouv To

EVEPYNTIKO
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Q. 26  Thefollowing account contains a number of wrong entries:
DEBTORS ACCOUNT (Euro)

1 Jan Balance b/d 414.000 31 Jan | Credit sales 101.000

31Jan | Cash 111.000 31 Jan | Bad Debts 13.600

31Jan | Returns inwards 6.650

31Jan | DscOUNts 1400  |31Jan |Balance c/d ?

What should the closing balance be once the errors are corrected?

A €382.350
B €418.450
C €395.650
D €409.550
Q. 26 O o KATW Aoyaplaopog TrepIAaUBavel KATTOIEG AAVOAOHEVES
EYYPOPEG:
AOIrAPIAZMOZ XPEQZITQN (o€ Eupw)
1 lav YtréAoitro 414.000 31 lav | MwARoeig 101.000
31lav | Tapeio 111.000 31 lav Q“d"‘s",g 13.600
PEWOTWV
3Mlav | ETIOTRO®N 6.650
TWARCEWYV
3 lqv | CKTTTWON 1400 | 31lav | YTroAoiTo €ig ?
Xopnyoupevn véo
Mo16 Ba gival To TEAIKO utrOAOITTO OTAV T AdON d10pBWBOUYV;
A €382.350
B €418.450
C €395.650
D €409.550
Q. 27 The net catalogue price of premises after deducting of a 10%

trade discount and before the addition of 15% V.A.T. was
€18.000.

What was the gross catalogue price?
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A €18.630
B €20.000
C €22.000
D €20.630

Q. 27 H kaBapn TIpA KaraAdyou ayopdg aKIVATWY HETA TN a@aipEon
10% epTTOPIKAG EKTTITWONG Kal TrPIV T Trp6cBeon 15% O.M.A.
nrav €18.000.
Moia ATav n MIKTA (aKABapTn) TIMA KATAAOGYOU;
A €18.630
B €20.000
C €22.000
D €20.630

Q. 28 On 1 July 2005 a firm purchased a new plant and machinery on
credit. The cost price was €50.000, the estimated life 10 years
and the estimated scrap value €10.000. Using the straight line
method of depreciation and the indirect way of keeping the
accounts, what will the net book value of the plant and
machinery be in the balance sheet as at 31 December 2009?
A €32.000
B €22.000
C €40.000
D €18.000

Q. 28 Tnv 1" loGAiou 2005 n emixeipnon ayopace £va Kaivoupylo
Mnxavnua pe Tiotwon. To ké6oTog ayopdg Arav €50.000, n {wn
TOU uTtroAoyioTnke o€ 10 xpovia Kal n UTTOAEITTOMEVN Adla O€
€10.000. XpnoigotroiwvTag Tn otafepi néEBodo amréoBeong Kai
TOV EMUECO TPOTTO THPNONG TWV Aoyaplaopwy, Trold Ba gival n
KaBap agia TOU PNXAVAMATOS OTOV 100AOYIONO OTIg 31
AekepBpiou 2009;
A €32.000
B €22.000
C €40.000
D €18.000

Q. 29 From the following list of balances find the working capital

as at 31 December 2008.

Non-current (fixed) assets €50.000
Capital €43.000
Loan from J. John €10.000
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Closing stock € 2.000
Sundry creditors € 5.000
Stock of stationery € 500
Sundry debtors € 8.000
Bank overdraft € 3.000
Cash in hand € 500
Interest receivable in advance € 1.000
Bills receivable € 6.000
A €43.000
B € 8.000
C €13.000
D €10.000

.29 Amé T™n MmO KATW AioTta utroAoiTrwv Bpeite TO KeQAAalo
Kivhong oTig 31 Aekeufpiou 2008.

Mn-kukAog@opouv(lNdyio)evepynTiké €50.000

KegpdAaio €43.000
Advegio atré Tov J. John €10.000
TeAIKS a1TéBEPA EUTTOPEVHATWV € 2.000
Aidgpopol TTIoCTWTEG € 5.000
ATT60gpa ypa@IkAg UANG € 500
Ai1Gd@opol XpewoTeG € 8.000
Tpameliké Tapatpdfnyua € 3.000
MeTpnTd € 500
Tokol eiorpakTéol rpokatafoAika € 1.000
FpapUATIA EICTTPAKTEN € 6.000
A €43.000

B € 8.000

C €13.000

D €10.000

. 30  Which one of the following pairs of ledger accounts are real

accounts?

A Buildings and rent payable

B Cash in hand and cash at bank
C Capital and debtors

D Advertising and interest received

. 30 TMoi6é amwd Ta akdAouba Jeuyn AoyaplaoHWYV €ival TTPAYHATIKOI
Aoyaplacuoi;

A KTipia kai evoikia TTAnpwTéQ

B MeTpntd Kai TpatreCa

C Ke@dAalo Kal XpeEWOTES

D Ala@npioeig kal €00da atrd TOKOUG

GOOD LUCK - KAAH ENITYXIA



